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Question 1. 30 points
Ms. Laura loves drinking tea (x;) with honey (x;). For each bag of tea, she would

like to add two spoons of honey.

a. Write down the utility function that represents Laura’s preferences. (15 points)

b. Suppose each bag of tea costs Laura $2, a spoon of honey costs her $3 and her income
is $48, find her optimal consumption bundle. Write the Laura’s budget function, her

optimal bundle. (15 points)

Question 2. 20 points
Cost production: o L
a. Consider production function

(where Q = Q1 + Q2) and two
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b. A natural monopoly occurs when a firm cannot operate at an efficient level of
output without losing money. Many public utilities are natural monopolies of this
sort and are therefore regulated by the government. (10 points)

¢c. In a Robinson Crusoe economy, the firm’s isoprofit line is an upward sloping {
curve with the intercept equals the profit 7 and the slope equals the wage rate
. (5 points)

d. As long as the welfare function is increasing in each individual’s utility, a welfare
maximum will be Pareto efficient. Furthermore, every Pareto efficient allocation. ? (Y-
can be thought of as maximizing some welfare function. (5 points)
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